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1.  (A) Answer the following questions : 14
(I) A Ltd. has purchased 1,00,000 kgs of raw material @ 100 per kg. and

(B)

AB-168

(I

introduced it in the production process and get 85000 kgs. as output. Normal
wastage is 10%. In the process, company incurred the following expenses :

g
Direct Labour 10,00,000
Direct variable overheads 1,00,000
Fixed overhead 1,00,000

(including interest < 40,625)
Of the above 75,000 kgs. was sold during the year and remaining 10,000
kgs in closing inventory. Due to fall in the market the selling price for
finished goods on the closing was estimated to be ¥ 105. Calculate the value
of closing inventory.
When do you recognize revenue in the following case as per Ind AS 18
(AS-9) ? Explain in detail.
(a) Sales of goods
(b) Rendering services

OR

Answer the following questions :

@)
)

|

Explain Ind AS-20 (AS-12) Accounting for Govt. Grant.
Explain Ind AS-23 ( AS-16 ) Borrowing Cost.

|

Select the most appropriate answer from the alternatives : (Any four) 4

(1)

2)

What is the cost of finished goods Stock from the following information ?
Material cost T 90 per kg.

Direct Labour cost T 30 per kg.

Direct Variable Production overhead I 10 per kg.

Fixed production charges for the year on normal capacity of 50,000 kgs is
T 5, 00,000. 1,000 kgs of finished goods are on stock at the end of the year.
(a) < 1,40,000 (b) 90,000

(¢) % 1,20,000 (d) *1,30,000

To whom Ind AS-2 is applicable ?

(a) Sales of goods

(b) Grant received from Government

(c) Valuation of Inventory

(d) Revenue arising from hire purchase and lease agreement.

9 P.T.O.



(3) From which date Indian Accounting Standard No. 9 is came into force
mandatory to the sole proprietorship and partnership firm ?
(a) 1-04-1993 (b) 1-04-1997 (c) 1-04-1992 (d) 1-04-2001
(4) Government grant related to revenue are :
(a) Credited to profit & loss account (b) Deducted from related expenses
(c) above (a) or (b) allowed (d)  All the above
(5) Government grant that become refundable should be treated as :
(a) Extraordinary items (b)  Prior period items
(c) Change in accounting estimates  (d) Change in accounting policy
2. (A) The following is the Trial Balance of Sajan Ltd. as on 31st March 2018. 14
Account Name Debit Credit
(9] (9]
Purchase and Sales 7,00,000 | 18,00,000
Goods Return 40,000 60,000
Salary and Outstanding Salary 1,20,000 10,000
Provident Fund and Contribution 10,000 90,000
Debtors and Creditors 1,00,000 50,000
Bills Receivable and Bill Payable 80,000 30,000
Cash and Bank 1,90,000 25,000
Debenture Redemption Fund and Investment 1,00,000 1,00,000
Stock as on 1-04-2017 1,00,000
Wages 2,00,000
Rent 60,000
Repairs 25,000
Audit fees 1,20,000
Administrative expenses 2,00,000
Interest on debenture 30,000
Sundry Income 30,000
Provision for taxation as on 01-04-2017 1,00,000
Advance payment of Income Tax 2016-17 70,000
Advance payment of Income Tax 2017-18 1,50,000
Machinery 13,00,000
Building 10,00,000
Furniture 2,00,000
Equity Share Capital: Shares each of T 10 8,00,000
10% Preference Share Capital 3,00,000
General Reserve 5,00,000
10% Debenture 6,00,000
Profit & Loss Account (01-04-2017) 3,00,000
Total 47,95,000 | 47,95,000
AB-168 10



Additional Information :

(1) The Authorised Capital of the Company is 2,00,000 Equity Shares each of
% 10 and 10% 5,000. Preference Shares each of ¥ 100

(2) Closing stock of ¥ 3,00,000 which was valued at 20% above it cost price

(3) Provide depreciation on fixed assets at 10% p. a.

(4) Income tax assessment for the last year has been completed and tax liability
is fixed at ¥ 90,000. Provision for taxation to be made for the current year at
the rate 40% on net profit.

(5) Provide 10% reserve for bad debts.

(6) Directors are entitled to get remuneration at 5% on net profit. ¥ 24,000 of
remuneration paid to directors are included in administrative expenses.

(7) Transfer 10% of net profit to general reserve and I 20,000 to debenture
redemption fund.

(8) The Board of Directors has recommended 15% dividend on paid up equity share
capital. Prepare Final Account as per Scheduled VI of the Company's Act.

OR

Answer the following questions :

(I)  There are two full time Directors and one Manager in Nirmi Ltd. 7
The Manager is to be paid 5% commission and each of the Directors is to be
paid 2% commission.

The commission payable to Manager is calculated on the profit left after
charging his commission and commission of the full time Directors.

The commission payable to the full time Directors is calculated on the profit
left after charging their commission and commission to the Manager.
Following are the details; calculate the commission payable to the Manager
and each Directors.

Particulars Amount (%)
Interest on debenture 1,20,000
Provision for taxation 4,00,000
Bad debt reserve 50,000
Provision for depreciation 2,00,000
Director's remuneration 1,00,000
Director's fees 50,000
Profit on fixed assets (Cost price of fixed 5,00,000

assets is ¥ 12,00,000 and accumulated
depreciation on it ¥ 3,00,000)

Interest on investment (TDS % 10,000) 1,00,000
Share premium received 50,000
Discount on debenture written off 20,000
Loss on sale of furniture 30,000
Preliminary expenses written off 25,000
Last year bonus paid 1,00,000

Profit after taking above details is ¥ 20,60,000
Depreciation allowable as per Act is ¥ 2,20,000, current year bonus amount
% 1,50,000 is not provided.
(I)  Explain the purpose of Financial Statement Audit. 7

AB-168 11 P.T.O.



(B) Select the most appropriate answer from the alternatives : (Any four)

AB-168

(1

2)

€)

4

)

Given below is a part of the Trial Balance of Kirti Ltd. as on 31% March,
2018.

DebitT | Credit3
Provision for taxation(2016-17) 6,00,000
Advance Tax Paid (2016-17) 4,50,000

Adjustment: Last year assessment has been completed and liability
determined amounted to I 4,80,000. What amount will be shown in the
balance sheet as a liability ?
(a) % 1,50,000 (b) 30,000
(c) T4,80,000 (d) *1,20,000
S Ltd. commenced a business on 1-04-2015. For the year ended on
31-03-2016, S Ltd. has earned accounting income of ¥ 90 lakhs. However,
its taxable income was I 70 lakhs only due to timing difference. If the net
tax rate applicable to the company is 40%, show how much amount will be
shown as deferred tax liability ?
(a) 36 lakhs (b) 21 lakhs
(c) R 64 lakhs (d) < 8lakhs
From the following which is the non-current assets ?
(a) Fixed assets and Debtors
(b) Debtors and Inventory
(c) Fixed Assets and Short term Investment
(d) Fixed Assets and Long term investment
What is the maximum limit of managerial remuneration in Public Ltd.
Company as per Company's Act 2013 ?
(a) 1% b 3%
(c) 5% (d 11%
At present which schedule is used for preparation of public Ltd. Company's
final Account ?
(a) 1 (b)y 1O
(c) 1 (d VI

12



3. (A) Pratibha Chemical company sells its product in returnable packages. Customers

AB-168

are billed at ¥ 35 for each package at the time of sale and credited with I 25 if the
packages are returned within two months. In case the packages are returned in

damaged condition credit will be given only ¥ 15. The following figures are
available for the year ended on 31% March, 2018.

Nos. Amount (%)

Returnable stock with customer as on 01-04-2017 40,000 8,00,000
Stock on hand as on 01-04-2017 20,000 4,00,000
Packages purchased during the years 50,000 | 15,00,000
Returnable packages with customer as on 31-03-2018| 20,000
Packages sent out to customer during the year 80,000

Packages returned in damaged condition during the| 10,000
year

Packages not returned within the scheduled time| 30,000
during the year

All stock is valued at cost. Damaged packages are to be valued at 60% of cost.
Opening balance of packages debtors amounted to ¥ 3,00,000. I 7,00,000 was
received from debtors on account of packages.

You are required to prepare

(1) Packages Stock Account

(2) Packages Trading Account

(3) Packages Debtors Account

OR

Answer the following questions :

() Bhavesh Traders sell the goods in special containers. Containers are
charged out at I 125 each to the customers and credited to I 80 each if
returned in good condition within one month. For stock taking purpose, old
containers are valued at ¥ 70 and new containers are valued at its purchase
cost of ¥ 100 each. From the following information, prepare containers

Trading Account in the books of the firm.

Particulars Nos.
(1) Opening Stock with firm 5,100
(2) Opening Stock with customer 2,400
(3) Containers purchased during the year 19,900
(4) Containers sent to customers during the year 40,000
(5) Containers retained by customer 5,000
(6) Containers scrapped and sold at X 50 each 1,000
(7)  Containers lost in an accident and Insurance company

accepted a claim of 50% amount 300
(8) Closing stock with firm at the end of the year 10,000
(9) Closing stock with customer at the end of the year ?

14
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(I) Pushpa Traders sells the goods in special containers. Containers are charged

out at I 120 each to the customer and credited to I 75 each, if returned in
good condition within one month. For stock taking all containers are valued
at ¥ 60 each. From the following information, prepare Containers Provision
Account in the books of firm and also calculate the value of closing stock
with firm.

(1)  Opening stock

Containers on hand 10,200
Containers with customer 5,100
(2) Containers purchased at ¥ 70 during the year 2017-18 19,000
(3) Containers sent out to customers during the year 30,000
(4) Containers returned by customers during the year 16,800

(5) Containers retained by the customers during the year 14,400
(6) Containers lost in an accident 200

(B) Select the most appropriate answer from the alternatives : (Any three)

AB-168

(1)

)

3)

(4)

As per Container Trading and Container Provision account method,
containers destroyed by fire is shown in

(a) Container Trading Account credit Side
(b) Container Trading Account debit Side

(c) Container Provision Account debit side and Container Trading
Account credit side

(d) Container Trading Account debit side and Container Provision
Account credit side

Container suspense account prepared at

(a) Purchase price

(b) Charged to customer price (Sent out to customer price)
(c) Credit given to customer price

(d) Stock Valuation price

Opening stock with firm 5000 containers at I 10, No of containers purchase
during the year 20000 at ¥ 12. Containers sent out to customers and return
from customer were 60,000 and 50,000 respectively. Value of closing stock
with firm is ¥

(a) 1,70,000 (b) 1,50,000
(c) 1,80,000 (d) None of above

As per Container stock and Container Trading Account method, Normal
Loss of containers is shown in

(a) Container Stock Account Credit side
(b) Container Trading Account Debit side
(c) Container Stock Account Debit side

(d) Container Trading Account debit side and Container stock account
Credit side.

14



4.  (A) DCM traders commenced business on 01-04-2016 selling goods on a hire
purchase basis on the following terms : 14

Cost 3 24,000
Selling Price 336,000
Deposit Payable 20%
Instalments payable 12 monthly instalments

Monthly instalments are payable on the last date of the month in which the sales
takes place. Other details are as under:

2016-17 2017-18
Sales 180 Nos. 360 Nos.
Hire purchase Debtors 340,000 % 60,000

Sales take place evenly throughout the year. In 2017-18, 20 units sold in 2016-17
on which 160 instalments had been received were repossessed.

Show Hire Purchase Trading Account for both the years in the books of DCM
Traders.

OR
Answer the following questions

(I)  M/s. Palak Traders are dealers of TV sets. They are selling TV on hire
purchase only. 7

The following information has been available from his books for the
accounting year 2017-18.

2017 3

April -1  Opening stock at the shop 90,000
Instalment not due 40,000
Instalment due but not received 10,000

During the year 2017-18 the following transactions took place :

Purchase of TV sets <10,00,000
Instalments received from the customers 3 8,00,000
TV sets repossessed from customers T 80,000

(on which unpaid instalments were ¥ 1,20,000)

2018

March 31:Instalment not due < 5,00,000
Instalment due but not received $1,20,000

The firm is selling its goods at a profit of 50% on hire purchase price. You
are required to find out profit on hire purchase business as per the stock and
Debtors Method.

(I)  Explain the difference between Financial Lease and Operating Lease 7
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(B) Select the most appropriate answer from the alternatives : (Any three)
(1) What is Hire Purchase stock ?
(a) Instalments due and received
(b) Instalments due but not received
(c) Instalments not due
(d) Instalment received in advance

(2) Goods repossessed from Hire purchase debtors are shown at in the
Hire purchase Trading Account.

(a) Instalment due on goods repossessed amount
(b) Estimated amount or cost price
(c) Instalment not due amount
(d) Instalment received amount
(3)  Which one of the following is not considered as an advantage of leasing ?
(a) It provides full finance
(b) Savings of recurring cost of raising finance
(c) It provides flexibility to the lessee
(d) All of the above

(4) In India, the idea of starting leasing companies was put forward by
in 1971.

(a) City Bank

(b) Reserve Bank of India
(c) Bank of Baroda

(d) Bank of India
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